AF65E10 H 27 H YT

el N geas X% i B g% (IR EE 3 1X)
' = o&H® W £ FE
X R A ELEL =1 e AR P TR ISR
PR A B C(D+G) D(E+F)
% -3 & % -3 i 5 (%) % (%) 71 (%) 5 (%) (%) 71 (%)

1 | AR 475 455 930 474 455 929 297 (62.66) 284 (62.42) 581 (62.54) 107 (22.57) 91 (20.00) 198 (21.31)
2 | BTN 3,210 3,281| 6,491| 3,204 3,277 6,481| 1,594 (49.75) | 1,586 (48.40) | 3,180 (49.07) 611 (19.07) 609 (18.58) [ 1,220 (18.82)
3 | RAINFRL 4,334 4,730 9,064| 4,326 4,723 9,049] 2,341 (54.11) [ 2,601 (55.07) | 4,942 (54.61) 784 (18.12) 869 (18.40) [ 1,653 (18.27)
4 |pEdiEAE 1,262 1,250 2,512 1,259| 1,249 2,508 623 (49.48) 638 (51.08) [ 1,261 (50.28) 230 (18.27) 226 (18.09) 456 (18.18)
5 | KEHHI 4,831 5,283| 10,114| 4,821| 5,275( 10,096| 2,467 (51.17) | 2,685 (50.90) | 5,152 (51.03) 915 (18.98) 976 (18.50) [ 1,891 (18.73)
6 | = ST 4,490 4,756 9,246| 4,478| 4,745 9,223| 2,210 (49.35) [ 2,276 (47.97) | 4,486 (48.64) 913 (20.39) [ 1,008 (21.24) | 1,921 (20.83)
7 |Zf=ta=74 451 433  884|  450| 433 883 259 (57.56) 231 (53.35) 490 (55.49) 126 (28.00) 114 (26.33) 240 (27.18)
8 |Fii H/1NA% 2,141| 2,200 4,341| 2,138| 2,200 4,338] 1,148 (53.70) [ 1,152 (52.36) | 2,300 (53.02) 593 (27.74) 586 (26.64) | 1,179 (27.18)
W 9 [T 1,233 1,138| 2,371 1,230 1,138 2,368 623 (50.65) 590 (51.85) | 1,213 (51.22) 372 (30.24) 376 (33.04) 748 (31.59)
» 10 (AT 28 A 329 301 630 327 299| 626 163 (49.85) 173 (57.86) 336 (53.67) 95 (29.05) 96 (32.11) 191 (30.51)
11 |BEHe = fr 576 536 1,112 576 535 1,111 328 (56.94) 290 (54.21) 618 (55.63) 200 (34.72) 197 (36.82) 397 (35.73)
12 (BRI A 1,066] 973 2,039] 1,064] 973 2,037 597 (56.11) 588 (60.43) | 1,185 (58.17) 304 (28.57) 281 (28.88) 585 (28.72)
13 | &S 343 261 604 342  261| 603 183 (53.51) 146 (55.94) 329 (54.56) 88 (25.73) 67 (25.67) 155 (25.70)
14 | =R Hh X 2 AE 117 88| 205 117 88| 205 68 (58.12) 55 (62.50) 123 (60.00) 46 (39.32) 33 (37.50) 79 (38.54)
15 | 5 k5 X 2 A 92 74 166 92 74 166 51 (55.43) 52 (70.27) 103 (62.05) 24 (26.09) 26 (35.14) 50 (30.12)
16 | R R HX 22 f 83 70| 153 83 70 153 43 (51.81) 37 (52.86) 80 (52.29) 23 (27.71) 22 (31.43) 45 (29.41)
ARt 25,033 25,829| 50,862| 24,981 25,795| 50,776| 12,995 (52.02) | 13,384 (51.89) | 26,379 (51.95) | 5,431 (21.74) | 5,577 (21.62) [ 11,008 (21.68)
1E4h 163 172|335 163 172|335 3 (1.84) 3 (1.74) 6 (1.79) 0 (0.00) 0 (0.00) 0 (0.00)
waat 25,196 26,001| 51,197| 25,144 25,967 51,111| 12,998 (51.69) | 13,387 (51.55) | 26,385 (51.62) | 5,431 (21.60) | 5,577 (21.48) [ 11,008 (21.54)




AF65E10 H 27 H YT

Ragbr/h g Ko B EE (MPHRE3X)
' = o&®H W £ i
ELEEES - AEE R BB TR
T E F G
5 (%) % (%) 71 (%) 5 (%) (%) 71 (%) 5 (%) (%) 71 (%)

1 [WEE AR 107 (22.57) 89 (19.56) 196 (21.10) 0 (0.00) 2 (0.44) 2 (0.22) 190 (40.08) 193 (42.42) 383 (41.23)
2 | I/ N 605 (18.88) 607 (18.52) | 1,212 (18.70) 6 (0.19) 2 (0.06) 8 (0.12) 983 (30.68) 977 (29.81) | 1,960 (30.24)
3 [RAb/ R 772 (17.85) 859 (18.19) | 1,631 (18.02) 12 (0.28) 10 (0.21) 22 (0.24) | 1,557 (35.99) | 1,732 (36.67) | 3,289 (36.35)
4 |& A 229 (18.19) 223 (17.85) 452 (18.02) 1 (0.08) 3 (0.24) 4 (0.16) 393 (31.22) 412 (32.99) 805 (32.10)
5 | KEHHI 907 (18.81) 970 (18.39) | 1,877 (18.59) 8 (0.17) 6 (0.11) 14 (0.14) | 1,552 (32.19) | 1,709 (32.40) | 3,261 (32.30)
6 | = ST 907 (20.25) [ 1,004 (21.16) | 1,911 (20.72) 6 (0.13) 4 (0.08) 10 (0.11) | 1,297 (28.96) | 1,268 (26.72) | 2,565 (27.81)
7 |Zf=ta=74 126 (28.00) 114 (26.33) 240 (27.18) 0 (0.00) 0 (0.00) 0 (0.00) 133 (29.56) 117 (27.02) 250 (28.31)
8 [l FH /N 590 (27.60) 584 (26.55) | 1,174 (27.06) 3 (0.14) 2 (0.09) 5 (0.12) 555 (25.96) 566 (25.73) | 1,121 (25.84)
W 9 [T 369 (30.00) 376 (33.04) 745 (31.46) 3 (0.24) 0 (0.00) 3 (0.13) 251 (20.41) 214 (18.80) 465 (19.64)
» 10 (AT 28 A 94 (28.75) 96 (32.11) 190 (30.35) 1 (0.31) 0 (0.00) 1 (0.16) 68 (20.80) 77 (25.75) 145 (23.16)
L1 | = Fe st 3 171 (29.69) 165 (30.84) 336 (30.24) 29 (5.03) 32 (5.98) 61 (5.49) 128 (22.22) 93 (17.38) 221 (19.89)
12 | B Hh X 2 A 304 (28.57) 281 (28.88) 585 (28.72) 0 (0.00) 0 (0.00) 0 (0.00) 293 (27.54) 307 (31.55) 600 (29.46)
13 | &S 87 (25.44) 67 (25.67) 154 (25.54) 1 (0.29) 0 (0.00) 1 (0.17) 95 (27.78) 79 (30.27) 174 (28.86)
14 | =R Hh X 2 AE 45 (38.46) 33 (37.50) 78 (38.05) 1 (0.85) 0 (0.00) 1 (0.49) 22 (18.80) 22 (25.00) 44 (21.46)
15 | 5 k5 X 2 A 23 (25.00) 26 (35.14) 49 (29.52) 1 (1.09) 0 (0.00) 1 (0.60) 27 (29.35) 26 (35.14) 53 (31.93)
16 | R R HX 22 f 23 (27.71) 22 (31.43) 45 (29.41) 0 (0.00) 0 (0.00) 0 (0.00) 20 (24.10) 15 (21.43) 35 (22.88)
At 5,359 (21.45) [ 5,516 (21.38) | 10,875 (21.42) 72 (0.29) 61 (0.24) 133 (0.26) | 7,564 (30.28) [ 7,807 (30.27) | 15,371 (30.27)
1E4h 0 (0.00) 0 (0.00) 0 (0.00) 0 (0.00) 0 (0.00) 0 (0.00) 0 (0.00) 0 (0.00) 0 (0.00)
e 5,359 (21.31) [ 5,516 (21.24) | 10,875 (21.28) 72 (0.29) 61 (0.23) 133 (0.26) | 7,564 (30.08) [ 7,807 (30.07) | 15,371 (30.07)




